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1 -tan 6
L=

1+tan 6

(i) tan26 (ii) sin26 (iii) cos26 (iv) cot26
2
1 — tan 80°
2. - 5 =
1 + tan 80°
(i) cot1l60° (ii) cos160° (iii) tan160° (iv) sin160°
.2 .2
sin 80° + sin 10°

3. 5 5 =
cos 50° + cos 40°

(i) -1 (ii) 2 (iii) undefined (iv) 0 (v) 1

2

1+tan 6
4, - 5 =

1+ cot 6

. 2 . 2 2 . 2
(i) tan © (ii) sec © (iii) cot © (iv) cosec 6 (v) 1

1 (1 +sinB)(1 —sinB)
5. If cot® = 3 , find
(1 —cosB)(1 + cosH)

(')l (i) : (iii) (i) (')} ()E
oy S (i) () (v) v

(1 +cos6)(1 —cosH)

2
6. If tanB = ; , find
(1 +sin®)(1 —sinBb)

(i) -4 (ii) -2 (iii) -6 (iv) -4 (V) -4
51 49 49 49 47
(1 +sinB) (cos9)
7. Find the value of +
(cos0) (1 +sinB)

(i) 2sin© (ii) 2cosecH® (iii) 2secB (iv) 2cos6



2 2
8. Find the value of 7sec 6 — 7tan ©

(i) 10 (ii) 7 (i) O (iv) 1 (v) 4

9. Find the value of (1 + tan® + secB)(1 + cot6 — cosecO)

(i) 0 (i) 3 (iii) 5 (iv) 1 (v) 2

10. Find the value of (cosec6 — cotE))2
1 + cos©O 1 —sin® 1 + sin® 1 — cos®
(i) (i) - (iii) - (iv)
1 — cos© 1+ sin® 1 —sin® 1 + cos©

2 2
11. If tan® + cot® = 4 , find tan 6 + cot ©

(i) 16 (ii) 15 (i) 13 (iv) 14 (v) 12

2 2
12. If tan® — cot6 = 2 , find tan 6 + cot ©

(i) 7 (ii) 9 (iii) 5 (iv) 3 (v) 6

13. Which of the following are true?

1 + sin® cosO
+ - = 2secH
cosO 1 + sin®
b) .
1+ sin®
(seco —tane)2 = -
1 —sin®
cosO cosB
+ = 2tan®
cosecH + 1 cosecH — 1
d) .
1 —sin®
(seco —tane)2 = -
1+ sinB
cosO cosO
+ = 2

1 —sin® 1+ sin®

(i) {b,a,c} (i) {ec} (i) {a,cd} (iv) {b,a} (v) {b,ed}



14. Which of the following are true?

15.

16.

17.

18.

cosO 1 —sin®

1+ sin® cos6

b)
secO 1 — cosecH

1 + cosecH secH
o . 2 . 2

(sin® + cosB®)” + (sin® —cosB)”™ = 2
d . 2 .

(sin® + cosB)” = 1 +sin26
e) . 2 .

(sin® —cosB®)” = 1 + sin26
f) 3 .3 ) )

cos 6 +sin B8 = (sin® + cosB)(1 — sinBcosB)
g) 3 .3 . .

cos 6 —sin 8 = (sin® + cosB)(1 — sinBcosB)

(i) {e,c} (i) {g,b,d} (iii)) {b,a} (iv) {efa} (v) {a,cdf}
P+Q
IfP,Q and Rare the interior angles of a triangle, then sin(- 5 ) =

(i) si (P) (i) sinR (iii) (R) (iv) (P) (v) si (R)
) sin(0) (i) sinR (i) cos(_) (iv) cos(1) (v) sin(;

If v=cosO + sin®, w=cosBsinB then

(i) V2 = (=2w+1) (i) v® = (2w+1) (i) (V2+w?) =1 (iv) (VP+u?) =0 (v) (V2=w?) =1

If t=cos6 + sin®,u=cos6 — sin6 then

() (2+0?) =0 (i) (B+0?) =2 (i) (£=v?) =1 (iv) (B+d?) =1 (v) (£-u?) =2

If e=ycosB +2zsin® and f=ysin® —zcos6, then

() (e2=F) = (y2=Z2) (i) (e2+F) = (V2 +22) (i) ef = yz (iv) (V2+€?) = (Z2+F)
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